








t Qin
t Demandt Diversiont Qout

t

2015 1 10 2 2 8
2015 2 9 2 2 7 9
2015 3 12 2 2 10
2015 4 6 6 6 0
2015 5 2 6 2 0
2015 6 1 6 1 0
2015 7 5 11 5 0
2015 8 0 11 0 0 Mass Balance
2015 9 0 11 0 0 Unknown Variables: Qt

Out, Diversiont

2015 10 0 5 0 0 2 Qt
Out (Qt

in, Diversiont)

2015 11 4 5 4 0 Diversiont
 (Qt

in )

2015 12 7 5 5 2 Diversiont
 (Qt

in)

2016 1 11 2 2 9 Diversiont
 = Demandt if Qt

in >= Demandt

2016 2 8 2 2 6 Diversiont
 = Qt

in if Qt
in < Demandt

2016 3 7 2 2 5 2 Streamflow Out
2016 4 7 6 6 1 7 Qt

Out = Qt
in - Diversiont

2016 5 1 6 1 0
2016 6 0 6 0 0
2016 7 0 11 0 0
2016 8 0 11 0 0
2016 9 4 11 4 0
2016 10 3 5 3 0
2016 11 7 5 5 2
2016 12 11 5 5 6

ΔSt = It - Ot because ΔSt = 0, then  It = Ot

Qt
in

Qt
out

Demandt



S0= 500 TAF

t St-1 Qin
t Demandt Qout

t Sum OutflowsSt = St-1 + It - Ot

2015 1 500 10 2 2 4 506
2015 2 506 9 2 2 4 511
2015 3 511 12 2 2 4 519
2015 4 519 6 6 2 8 517
2015 5 517 2 6 2 8 511 12 511
2015 6 511 1 6 2 8 504
2015 7 504 5 11 2 13 496
2015 8 496 0 11 2 13 483
2015 9 483 0 11 2 13 470
2015 10 470 0 5 2 7 463
2015 11 463 4 5 2 7 460
2015 12 460 7 5 2 7 460
2016 1 460 11 2 2 4 467
2016 2 467 8 2 2 4 471
2016 3 471 7 2 2 4 474
2016 4 474 7 6 2 8 473
2016 5 473 1 6 2 8 466
2016 6 466 0 6 2 8 458 2
2016 7 458 0 11 2 13 445 2
2016 8 445 0 11 2 13 432
2016 9 432 4 11 2 13 423
2016 10 423 3 5 2 7 419
2016 11 419 7 5 2 7 419
2016 12 419 11 5 2 7 423

ΔSt = It - Ot

St = St-1 + It - Ot

St - St-1 = It - Ot
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ΔSt = It - Ot
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